PINELLAS PARK

5141 78TH AVE. • P.O. BOX 1100 PINELLAS PARK, FL 33780-1100

Please Respond To:

James W. Denhardt, City Attorney Lauren Christ Rubenstein, Assistant City Attorney Denhardt and Rubenstein, Attorneys at Law 2700 First Avenue North St. Petersburg, Florida 33713 (727) 327-3400 - Telephone (727) 323-0888 - Facsimile



FLORIDA

PHONE FAX

(727) 369-0700(727) 544-7448

December 10, 2021

Mr. Jeff Roberts Purchasing Coordinator City of Pinellas Park P. O. Box 1100 Pinellas Park, Florida 33780-1100

RE: City Document #21-313 Hillsborough County Bid 19970 Piggyback Annual Citywide Street Resurfacing

Dear Mr. Roberts:

We have received and reviewed the above-referenced Contract, which is a piggyback of Hillsborough County Bid/Contract 19970 with Ajax Paving Industries of Florida, LLC. After a review of all the items sent to our office, and a review of Pinellas Park's bid requirements in Section 2.602 of the City's Code of Ordinances, it would appear that the Contract between Hillsborough County and Ajax Paving Industries of Florida, LLC, was secured through a competitive bidding process which is equal to or more stringent than the competitive bidding process required by Pinellas Park City Code. The Purchasing Director has also indicated his approval that the Contract may be piggybacked.

As long as the items or services the City wishes to secure from Ajax Paving Industries of Florida, LLC, are substantially similar and their pricing is in accordance with the pricing provided in the Hillsborough County Contract, we are of the opinion that the Contract from Hillsborough County is able to be piggybacked.

Your office pointed out a conflict in the wording of Article V.4. of the Construction Contract. Our office agrees that the wording "by the Owner" should be changed to "to the Owner." Once that change has been incorporated into the Contract, we would



Mr. Jeff Roberts December 10, 2021 Page 2

approve of the proposed Contract for annual citywide street resurfacing as to form and correctness.

Very truly yours,

Jens

James W. Denhardt City Attorney

> cc: Doug Lewis, City Manager Diane M. Corna, MMC, City Clerk Bart Diebold, Assistant City Manager Lisa Hendrickson, Assistant City Manager Kelly Schrader, Finance Administrator Aaron Petersen, Construction Services Director Gary Moskaluk, Purchasing Director

JWD/dh

21-313.12102021.LJR.Hillsborough County Piggyback Bid.wpd



Kyle Arrison <karrison@pinellas-park.com>

Mon, Aug 9, 2021 at 2:13 PM

Fully executed 19970

4 messages

Mark Miller <markmiller@ajaxpaving.com> To: Kyle Arrison <KArrison@pinellas-park.com>

Kyle,

Please see the attached.

Thank you,

Mark Miller	
Ajax Paving Industries of Florida	2
Estimator	AMAX
(813) 769-1990 Work	
(813) 624-3918 Mobile	
markmiller@ajaxpaving.com	
www.ajaxpaving.com	



Kyle Arrison <KArrison@pinellas-park.com> To: Gary Moskaluk <GMoskaluk@pinellas-park.com> Cc: Dan Hubbard <DHubbard@pinellas-park.com>, Jeffery Roberts <jroberts@pinellas-park.com>

Gary,

Can you please look at the attached contract for the possibility of Piggybacking? I know you approved the Polk county contract previously but had concerns over pricing. This is from Hillsborough county.

Let me know what you think.

Thanks,

Kyle B. Arrison Stormwater Supervisor City of Pinellas ParkPublic Works Operation Center 6250 82nd Ave, Fri, Oct 1, 2021 at 5:23 AM

Pinellas-park.com Mail - Fully executed 19970

Pinellas Park, Fl 33781 Office:(727) 369-5621 Cell: (727) 647-0170



"Teamwork is the ability to work together toward a common vision. It is the fuel that allows common people to attain uncommon results." – **Andrew Carnegie** [Quoted text hidden]

2 attachments

ם Mark Miller.vcf 4K

19970 Executed Contract.pdf 18439K

Gary Moskaluk <GMoskaluk@pinellas-park.com> To: Kyle Arrison <KArrison@pinellas-park.com> Fri, Oct 1, 2021 at 10:56 AM

Good morning Kyle,

This contract can be piggybacked as it meets all the requirements of the City. In the event you are satisfied with their pricing terms, please proceed.

Gary Moskaluk Purchasing Director City of Pinellas Park (727)369-5711

[Quoted text hidden]

Kyle Arrison <KArrison@pinellas-park.com> To: Gary Moskaluk <GMoskaluk@pinellas-park.com>

Thanks Gary, we will be moving forward with this. I'll send everything over next week [Quoted text hidden]

[Quoted text hidden]

Fri, Oct 1, 2021 at 10:53 AM

Line Item Quote Pricing

104-10-3 Sedim 104-18 inlet F 107-1 Litter 107-2 Mowi 110-1-1 Cleari 110-4-10 Remo	Iption nent Barrier Protection System Removal ing ing and Grubbing	l.f. EA. AC	152 30		N	DOUM	25	10.00		1520.00
104-18 inlet F 107-1 Litter 107-2 Mowi 110-1-1 Cleari 110-4-10 Remo	Protection System Removal ing		30							
107-1 Litter 107-2 Mowi 110-1-1 Cleari 110-4-10 Remo	Removal	AC		1000	1 142	NDRAS	781	LARS	200.00	4000.m
107-2 Mowi 110-1-1 Cleari 110-4-10 Remo	ing		0.092		_	DUASANA			11000.00	92, On
110-1-1 Cleari 110-4-10 Remo		AC	0.072	ONF				Douns	1000.00	72,00
110-4-10 Ветно		AC	2.046			UNSAND			2000.00	4092.00
	oval Of Existing Concrete Pavement	S.Y.	2499.9			AVE.			105 00	162,493.50
	lar Excavation	C.Y.	41.5					ouns	100.00	4. 150.00
	inkment	C.Y.	30					DULIANS	100.00	3000.00
	B Stabilization	S.Y.	188.2			DOUA			30.00	5646.00
	ONAL BASE, BASE GROUP 03	S.Y.	88			JOLL			40.00	3520.00
	ONAL BASE, BASE GROUP 06	S.Y.	7210			N TO			16.00	115,360,00
	ONAL BASE, BASE GROUP 12	S.Y.	84.2	GPT	5	JOUR	22		50 00	4210.00
	ING EXIST ASPH PAVT, 1" AVG DEPTH	S.Y.	59253	TNO	50	ILANS O	170	NCENTS	2.10	124.431.30
	ING EXIST ASPH PAVT, 4 1/2" AVG DEPTH	S.Y.	46076					STIAN LEST		195.823.00
	ING EXIST ASPH PAVT, 1 1/2" AVG DEPTH	5.Y.						TY CAUTS	2.50	115 295.00
and the second se	rpave Asphaltic Concrete Traffic B	TN	48.3					TY DULLAS	120.20	5796.00
	rpave Asphaltic Concrete Traffic C	TN				TNOT			912.00	1466 848,00
		_								
557-7-263	ALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-	TN	551	ONE P	422		int	NOTY FOURNS	130.00	71,630.00
			-				~	-		
33/-/-82	IALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-	TN	2274	one 1	47 N	IDRES	14	nor cours	\$ 130.00	295,620.00
	PG 76-22		0	E. 16 .				DALLAR	# + 0 A DA	45000.00
	TS, CURB, TYPE P-5, <10'	EA.						Douns	5000.00	ASCUD.00
		EA.	9					Douge	5000.00	
	TS, CURB, TYPE P-S, PARTIAL	EA.				onstr		DOLLATS	2000.00	20000.00
		EA.						DOLLARS	2000.00	18000.00
	HOLE, ADJUST	EA.						TY POLINES	150.00	3900.00
425-6 VALV	E BOXES, ADJUST	EA.	25 -	moi	MV~	DAEN	U	DULARS	200.00	5000.00
430-175-118 PIPE	CULVERT, OPTIONAL MATERIAL, ROUND, 18*S/CD	L.F.	560	DNEM	NN.	SHAS T	HN	B DOUGRS	130.00	72,800.00
430-963-2 PVC P	Pipe for Back of Sidewalk, Non Standard	L.F.	3	6 M1	~				-	100 100
Diam	neter					OUM			50 00	150.00
436-1-1 Trend	ch Drain, Standard	L.F.	107					DOUMS	300.00	32100.00
520-1-7 CONC	CRETE CURB & GUTTER, TYPE E	L.F.	1980			DOUA			30.00	59400.00
520-1-10 CONC	CRETE CURB & GUTTER, TYPE F	L,F.	4757	THE					30.00	142710.00
520-2-4 CONC	CRETE CURB, TYPE D	L.F.	6154			EN T			18.00	110772.00
520-7-2 GRAN	NITE CURB, RESET	L.F.	16022			7 Dell		25	20.00	310 440,00
522-1 Conci	rete Sidewalk (4" Thick)	5.Y.	2378			DOUA			40.00	95,120.00
522-2 Conc	rete Sidewalk (6")	S.Y.	1658	SIV	M	202	AN	3	40.00	99 480.00
523-1 Patte	erned Pavement, Vehicular Areas	5.Y,	21	THE	Ł	HUND	RA	Douns	300.00	0300.00
5/1-1-1	ERNED PAVEMENT, VEHICULAR AREAS- GREEN	5.Y.	129	ONE	il.	NORE	1	WHAT DOLLAN		23220.00
	CTABLE WARNINGS	5.F.	867.2	TWE	VTY	Y From	VE.	DULLARS	25.00	21680.06
	ormance Turf, Sod	5.Y.	451	GPT					15.00	10765 00
	P ASSEMBLY- F&I, TYPE A	AS	60		_	HNDA			900.00	54000.00
	P ASSEMBLY, F&I, TYPE F	AS	60			DUSAN		Zougns	1000.00	60,000.00
	LE POST SIGN, F&I GROUND MOUNT, UP TO 12	AS	23					POLARS	300.00	6900.00

10

Line Item Quote Pricing

						1
THERMOPLASTIC, STANDARD, WHITE, YIELD LINE	1.F.	12	TWELVE DOLLARS		1	
Solid Traffic Stripe 18" Yellow (Thermoplastic)	L.F.	1325	FOUR DOLLARS	4.00	0 5300.00	
THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXT LINE, 6"	L.F.	392	THREE DOWARS	3.00	1174.00	
THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12" FOR CROSSWALK	L.F.	126	TWELVE DOZLARS	12.00	1512.00	
THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24* FOR CROSSWALK	L.F.	168	TWENTY TWO ZOLLAN	\$ 22.00	3696.00	
THERMOPLASTIC, PREFORMED, WHITE, 2-4 DOTTED GUIDELINE ON CONCRETE SURFACES	L.F.	554	SIX DOLLARS	6.00	3324.00	
THERMOPLASTIC, PREFORMED, WHITE, MESSAGE (BIKE, SLM, ETC)	EA.	59	TWO HUNDRED DOZLARS	3 200.00	11800,00	
THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, ETC)	EA.	105	ONE HUNDRED THILTY JULLA	NS 130.00	13650.00	
THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6"	L.F.	13757	ONE DOLLAR	1.00	13757.00	
THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOUD, 6"	L.F.	\$620.6	ONE DOUAL SIXTY C.	ENTS 1.60	5620.60	8992.60
THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 8"	L.F.	185	THREE DOZEANS	3.00	555 00	*
Thermoplastic, standard, white, solid, 18" for diagonal or chevron	L.F.	81	FIVE TOUGRS	5.00	405.00	
THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6" 10-30 SKIP	L.F.	12020	ONE ROUAL	100	12 020 00	
THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	L.F.	22485	ONE DOLLAR TEN CENT	5 1.10	24733.50	
THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 8"	L.F.	1740	TWO DOLLARS	2.00	3480.00	
THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"	L.F.	8260		1.00	8260.00	
Thermoplastic Removal	S.F.	25 1			1255.00	
Tree Removal 5 to 12"	EA	3			1500.00	1
Tree Removal >12 to 18"	EA.	25	NINE AUDRES TOLLARS	900.00	22500.00	
Sub Totel				1	044709.26	*
Mobilization (10% of Sub Total)	L.S.	1	SEE # 101-1 351000	404,470.92	404.470.92	*
Maintenance of Traffic (10% of Sub Total)	ils.	1	54F \$ 102-1 3520W	434,470.92 2	404 470.92	*
Contingency Allowance	L.S.	1	FIVE HUNDRED THIRTY THOUSAND \$	530,000.00	\$530,000	
- Total				\$5,383	651.60 330,000.00	F. C.
	GUIDELINE/6-10 DOTTED EXT LINE, 6" THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12" FOR CROSSWALK THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK THERMOPLASTIC, PREFORMED, WHITE, 2-4 DOTTED GUIDELINE ON CONCRETE SURFACES THERMOPLASTIC, PREFORMED, WHITE, MESSAGE (BIKE, SLM, ETC) THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, ETC) THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALT SURFACES WHITE, SOLID, 6" THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOUD, 6" THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6" THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SIP, 6" THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SIP, 6" THERMOPLASTIC REMOVAL	Solid Traffic Stripe 18" Yellow (Thermoplastic)L.F.THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTEDL.F.GUIDELINE/6-10 DOTTED EXT LINE, 6"L.F.GUIDELINE/6-10 DOTTED EXT LINE, 6"L.F.FOR CROSSWALKL.F.THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"L.F.FOR CROSSWALKL.F.GUIDELINE ON CONCRETE SURFACESL.F.GUIDELINE ON CONCRETE SURFACESL.F.GUIDELINE ON CONCRETE SURFACESL.F.GUIDELINE ON CONCRETE SURFACESEA.GUIDELINE, SLM, ETC)THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, ETC)THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALTL.F.SURFACES WHITE, SOUD, 6"THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOUD, 6"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOUD, 8"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOUD, 8"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, VELLOW, SOUD, 6"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOUD, 6"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SCID, 6"L.F.THERMOPLASTIC, STANDARD-OTHER SURFACES, YE	Solid Traffic Stripe 18" Yellow (Thermoplastic)L.F.1325THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTEDL.F.392GUIDELINE/6-10 DOTTED EXT LINE, 6"L.F.392THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12"L.F.126FOR CROSSWALKL.F.168THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"L.F.168FOR CROSSWALKL.F.554168THERMOPLASTIC, PREFORMED, WHITE, 2-4 DOTTEDL.F.554GUIDELINE ON CONCRETE SURFACESEA.59(BIKE, SLM, ETC)EA.59(BIKE, SLM, ETC)REFORMED, WHITE, ARROW (BIKE, EA.105ETC)THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, EA.105THERMOPLASTIC, STANDARD-OPEN GRADED ASPHALTL.F.13757SURFACES WHITE, SOLID, 6"L.F.13757THERMOPLASTIC, STANDARD-OTHER SURFACES, U.F.185WHITE, SOUD, 6"L.F.185THERMOPLASTIC, STANDARD-OTHER SURFACES, U.F.185WHITE, SOLID, 8"L.F.12020SURFACES, WHITE, SKIP, 6" 10-30 SKIPL.F.12020SURFACES, WHITE, STANDARD-OTHER SURFACES, U.F.22485YELLOW, SOLID, 8"L.F.1740YELLOW, SOLID, 6"L.F.3260THERMOPLASTIC, STANDARD-OTHER SURFACES, U.F.8260YELLOW, SKIP, 6"S.F.251TRERMOPLASTIC, STANDARD-OTHER SURFACES, U.F.8260YELLOW, SKIP, 6"S.F.251THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"L.F.THERMOPLASTIC, STANDARD-O	Solid Traffic Stripe 18" Yellow (Thermoplastic) L.F. 1325 FOUN DOLLATICS THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTED L.F. 392 TP/REE DOLLARS GUIDELINE/6-10 DOTTED EXT LINE, 6" L.F. 126 TWELVE DOLLARS FOR CROSSWALK L.F. 126 TWELVE DOLLARS FOR CROSSWALK L.F. 126 TWENDPLASTIC, PREFORMED, WHITE, SOLID, 24" L.F. 168 TWENDPLASTIC, PREFORMED, WHITE, 2-4 DOTTED SUBELINE ON CONCRETE SURFACES L.F. 168 TWENDPLASTIC, PREFORMED, WHITE, APPORTUNE ARROW (BIKE, EA. 59 TWXD HUNDRES DOLLARS GUIDELINE ON CONCRETE SURFACES, WHITE, SOLID, 6" L.F. 13757 ONE HUNDRES DOLLARS THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, EA. 105 ONE HUNDRES DOLLARS GUIDELINE ON CONCRETE SURFACES, WHITE, SOLID, 6" L.F. 13757 ONE DOLLARS THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6" L.F. 13757 ONE DOLLARS THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6" L.F. 13757 ONE DOLLARS THERMOPLASTIC, STANDARD-OTHER SURFACES, VELLOW, SOLD, 6" L.F. 185 TH////////////////////////////////////	Solid Traffic Stripe 18" Yellow (Thermoplastic)L.F.1325FOURDOLLMARSd.D.D.THERMOPLASTIC, STANDARD, YELLOW, 2-4 DOTTEDL.F.392TH/REE POUL ARS3.D.0THERMOPLASTIC, PREFORMED, WHITE, SOLID, 12"L.F.126TWEW/E POULARS12.00THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"L.F.168TWEW/E POULARS22.00THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"L.F.168TWEW/E POULARS20.00THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24"L.F.168TWEW/E POULARS40.00UDDILIKE ON CONCRETE SURFACESL.F.554ST/W POULARS40.00UDRELIKE ON CONCRETE SURFACESL.F.554ST/W POULARS200.00THERMOPLASTIC, PREFORMED, WHITE, ARROW (BIKE, EA.105ONE HUNNDRESS DOLLARS200.00THERMOPLASTIC, STANDARD-OPHE GRADED ASPHALTL.F.13757ONE POULARS130.00THERMOPLASTIC, STANDARD-OTHER SURFACES, L.F.5620.6ONE DOLLARS3.00THERMOPLASTIC, STANDARD-OTHER SURFACES, L.F.185TH/REFE POULARS3.00THERMOPLASTIC, STANDARD-OTHER SURFACES, L.F.185TA/REFE POULARS3.00THERMOPLASTIC, STANDARD-OTHER SURFACES,	Solid Traffic Stripe 18' Yellow (Thermoplastic) L.F. 1325 FOUR DDL14/US d.D.0 \$320.00 THERMOPLASTIC, STANDARD, YELLOW, 24 DOTTED L.F. 392 TP/REE DDL14/US 3.D.0 1/74-00 GUIDELINGE, CONTRED STURE, SOLID, 12' L.F. 126 TWERMOPLASTIC, PREFORMED, WHITE, SOLID, 24'' L.F. 126 TWERMOPLASTIC, PREFORMED, WHITE, SOLID, 24'' L.F. 168 TWERMOPLASTIC, PREFORMED, WHITE, AROUTED L.F. 159 TWWERMOPLASTIC, PREFORMED, WHITE, MESSAGE L.F. 159 TWWERMOPLASTIC, STRADARD, OPEN GRADED ASPHALT L.F. 150 OULE HAUNDARED THAT LY TWELMES 1300.00 13.650.00 THERMOPLASTIC, STANDARD OPEN GRADED ASPHALT L.F. 13757 ONLE TOBULAL STRATC SWITE, SOLID, 6'' 13757 ONLE TOBULAL STRATC SWITE, SOLID, 6''' 13757 ONLE TOBULAL STRATC SWITE, SOLID, 6'''' 13757 ONLE TOBULAL STRATC SWITE, SOLID, 6''''' 13757 ONLE TOBULAL STRATC SWITE, SOLID, 6''''''' 1360.00 13.650.00 THERMOPLASTIC, STANDARD OPEN GRADED ASPHALT L.F. 157 SOLID

101-1 FOUR HUNDRED FOUR THOUSAND FOUR HUNDRED SEVENTY DOLLARS & NINETY TWO CANTS # 102-1 FOUR HUNDRED FOUR THOUSAND FOUR HUNDRED SEVENTY DOLLARS NINDRY TWO CENTS